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ACT-ASSOCIATION OF COMPUTER TEACHERS MALAPPURAM

MODEL EXAMINATION 2021

COMPUTER APPLICATION ( COMMERCE)

SOLVED QUESTION PAPER
Qn |Ch |Question Value Points Score Tota
No No I
Answer any 3 questions from a to e. a MO € UOEQIBR BalIR(EBRSITD n@emesleljo 3
PART A Each carries 1 score (3X1=3) af)EROIM OOM@o ) 9IMR:. 639BEIMIMIe T MIBH0@ PART A
afloe (3X1 = 3)
1(a) |1 The base of the binary number system is ........ 2 1 1
©66enmMAl MM MIlgROMIOHG GENIMY ... @RJYEIAM. 2 1 1
1(b) |1 Expand ASCII American Standard Code for Information Interchange 1 1
ASCIl @3S a13BeR®Ialo af) IR American Standard Code for Information Interchange 1 1
1(c) |2 |1Byte= .. bit 8 1 1
1 006N = ... enilg 8 1 1
1(d) |3 Pictorial representation of an algorithm is Flowchart 1 1
called ..........
@RO@ENIGIMENON] 2ll(@E)ICTERSS Flowchart 1 :
(I@IMwImEDIOM ......... ag)(M} alO@IOM}
1(e) |9 Pick odd one out : GIMP 1 1
Opera, Mozilla Firefox, GIMP, Internet Explorer
@96 OEHISYOMIGBlELEHRMAUDIT NeM DD @D GIMP 1 1
6alSIODIOHM HDEEETNSIODTDPITRD>




Opera, Mozilla Firefox, GIMP, Internet Explorer

Answer any 11 questions from 2 to 21.

2 @3 21 QUIOHEQIBS BaldR(EERSITD aRBO@EsIR0 11

PART B Each carries 2 scores (11X2=22) af)EROIM OOM@o ) 9IME:. 639BEIMIMIo 2 MIBEIB PART B
afloe (11 X2=22)
2 1 Convert the decimal number 20 into binary number. [10100,
20 ag)0m &WMIa@ MaUE® eeNIMOIRICRIo6) 10100, 2
DO}
3 1 Write the 1's complement of the following binary (a) 01110 /1110 /11101110 1
numbers. (b) 00000 / 0 / 11100000 1
(a) 10001
(b) 11111
@IOY OBISYOMIGBHBRM HBENIMO] MoeU@IOS 1's (@) 01110/ 1110 1
GBJ0qflORR ag)93@)e> (b) 00000 / 0 / 11100000 1
4 1 Define Unicode * Unicode uses 16 or more bit to represent characters |1
* Unicode can represent data in almost all written
languages of the world. 1
@3MleH:00U) MIBQaileess « Unicode 9ale@ouils] 60600 @oaeNIlo
(BIDlWIMo O21QI3 16 @ReEJESITE @R @S
BS)EEI 6NIQIESUB OalEIUIEeRM] . 1
+ Unicode 8alc@auils] ag)g)o @Iu@icrI@)o
@REHUE6BBSBI0 2llameBBSle MV aile{lecdo
1
5 2  |Categorise the following into input and output Input devices Output devices
deV|c.es : , Joystick Printer 4x1[2
Joystick, Printer, Speaker, Keyboard Keyboard Speaker
@69 @MIElHRMAUOD DBl , BDFaRS MBS DalHEEMEBRUB 63D50S Oald>@6MEBRUD
DalHEEMEBRSIW] M@0 @AIH6H: Joystick Printer 4x1/2
Joystick, Printer, Speaker, Keyboard Keyboard Speaker




6 What is e-waste ? e-Waste refers to electronic products nearing the end of
their "useful life".
ED-GQUQY af)OMI@D af)aMIE) ? DalE@INUBIM(AIW RIS G(SIEMIB> Oald>@EMEBROSTIEN)
ED-GQUQY )M} alOQZIM®)
7 What are syntax errors ? Syntax error - occurs when the rules or syntax of the
programming language are not followed.
mIlagossmy ©NQIE:UB af)NI@D af)TMIEN) ? mIlaBoSMY ag)0@ - BIdWNIAOMR Ma6ERUB @ReE)sEsI@d
QUOB(PLISM  aldRlEnICm@ROE-I6NE
MorAllemnmMm emQIe:Ud
8 What is debugging ? The process of detecting and correcting errors in a
program is called debugging
aSleruglers ag)mo@Bd ag)amoeny ? 80} GIWNIAIOLI ODQIEUB B6NBYallSlecnB@Y0
O BIOORESDo H2IQRM (ol l@@IEM ullerulers
9 Define keyword. The tokens that convey a specific meaning to the compiler
and are reserved for special purposes are called keywords
| Reserved words in C++ are called keywords
Sleaiwy Mldqaillecns, S6OMILIOINT 3@} (ICM(E: @OMLAo0 MT@BEIM Do (BT D>
@RNUURIEBRUBESITI @Gl L lElenmM@@I
BSIBOEMGHOB SHIBNAUW a0 alO@IMM. [ (A ICD D>
@RUUBIEBRUBESITI] RIaH MIG] OQLy| QUIBEREBIEM Bl
10 Differentiate binary operator and unary operator. Binary operator - the operator that needs two operands

Unary operator - the operator that needs one operand
( Examples can given 1/2 mark each)

( Binary operator :+,-,* ,[,%,<,<=,>,>=, ===, &&,
|| ,= etc
Unary operator : Unary +, Unary -, ++, --, ! etc)

£66nIMAl 83a]ENQRN% WIMA] 6399]8NQN0 MRleRss
Q@M ) LIRS

£66nIMA] B9J8NQRA - @NE operand &>ud @RI
6300]60QMd
@MA] 839¢]BNQA - 8@} operand ERHAUURRIW 639|CORA




( ©B920EMEBRUBHE) 1/2 @3BH6Y Qflo M@ BHoUZM@IeNT )

( Binary operator :+,-,* ,/,%,<,<=,>,>=,==1=, &&,
|| ,= etc
Unary operator : Unary +, Unary -, ++, --, ! etc)

11

Define variable.

Variable is the name [ identifier / user defined word of a
memory location

cudlenilud mIBQailleeyss

80} OQNC] HLIIEEHUNMY Bald | Haf)WFlan@A@ [/ @IMHA
MIBQYaileenm alBo @R cQIGlENIlUE

12 Differentiate = = and = operators. == Relational operator / compares values [ checks the
values and returns true/false 1
= assignment operator |/ assigns a value 1
Differentiate = = and = operators. == Relational operator / compares values [ checks the
values and returns true/false 1
= assignment operator |/ assigns a value 1
13 Rewrite the following expression using arithmetic
assignment operator : (@) x+=5; [ error 1
(@) x=x+5; (b)a*=b; | error 1
(b)a=a*b;
@969 OEHISIOMIGBIELEHM af)BM(ala¥MNIEHOS
@RAlICMeAHE: @POSTVMOHRNG 6309]E0RM (@) x+=5; [ error 1
9alCIUI 4] @ EOTNOQVIDH (b)a*=b;/error 1
(@) x=x+5;
(b)a=a*b;
14 Write two methods of type conversion in C++. Implicit type conversion [ Type promotion 1
Explicit type conversion [ Type casting 1
C++ GRID P6NE MEODIERSS 6)6)Sa] B6NBEAID @RMA|E> Mo MIQ@D | OS] (@ IIEAIHNT 1
AHMEHBIOS Bal®@ af) PO 6NIda0f EDMo MIQ@D | O&Sq] Q613 1
15 Write the syntax of if.... else statement. If ( test expression ) 1/2
{
statement block1 /[ true block 1/2




}

else 1/2
{
statement block 2 / false block 1/2
}
(Examples can be given 2 mark)
If ...else (IMI@IUM@IES LISM af) 9IRS If ( test expression ) 1/2
{
statement block1 ; 1/2
}
else 1/2
{
statement block 2 ; 1/2
}
(9B920EEM@BINT GENE MIBHE) MNT@IH-0QUIAMNDIEN) )
16 Write two examples for entry controlled loop. for 1
while 1
af)R(S] SenE @ESoUdW egaflay @enE ©RInOeMEeBRUB | for 1
a)93@Rs: | While 1
17 What is loop controlled variable ? Loop controlled variable - a variable that controls the loop |2
ela] @6ns ¢S BUGBIENIUB ag)MI@B ag)@®IEM ? |l H6NE @SB crudlenilud - eqejlom mldileanimm
cauclenilud 2
18 What is repeater ? Repeater is used to amplify / strengthen signals in a 2
network
Nafl9B ag)aMO@B ag)mo6ny ? emQ adssleal mMluneRs:ud LBEI @FIM@IM Alaflgd
DalCIVIBeMY 2
19 Briefly explain LAN. LAN - Local Area Network 1

- network within a room or building
- Eg : network in a computer lab
Example can be given 1 mark)




LAN agym@lem &30l eicey allai@emo ag)93mid:

LAN - Local Area Network
- 803 030lemssierld , Hdslsomimaslean oss
oMY QAUBHE)
- Eg : network in a computer lab
(269a0EEMOMINT B3 MIBHE) MNT@DHINUZMDIEN) )

20

Define search engine. Give one example.

Search engine- programs used to search

documents containing keywords available on World Wide
Web for specified keywords

Example : Google /| Yahoo [ Ask / Bing etc

OMA4] agerailad MBQYalleeys

OMB.a] ag)eRMB- (IGD(B UIBBHUBESIRI GQIUBNUY
U HAUNIIEE LIRIRIQ CAUIEHORNRIEGSITD @ 61010)
MLIB(UAIMBS (BB UIBENEHUB OUBHBHBSBIM SUENT
Gal2RHBIOS alSld MBI

Example : Google /| Yahoo [ Ask / Bing etc

21

10

What is e-Governance ?

E-Governance : Use of ICT to deliver Govt services to
citizens in an efficient, transparent, effective, fast manner

ED-NEAUEMABMY af)MITD af)ADIIEM ?

MUBEHIB BAVAIMEBRUBD TVDEA(IBMUIo EHIRIEHAULo
MU@IRNIRIVGIBI Q@B A IDEMIGIGLILE) ag)OTNHL63NUIB
&ag) MUl S| ©alc Uiy

PART C

Answer any 10 questions from 22 to 41
Each carries 3 scores (10X3 = 30)

22 3@ @3 41 UOEISS BaldR3(6ERSIT aBe®aslelio 10
a)FROTIM OOMPo af)IMY:. BIBAINTIMIo 3 MIBLIB
alloe (10X3 = 30)

PART C

22

Explain any three advantages of computer.

Any three from the following

* High speed

* Accuracy

* Huge memory
+ Diligence

+ \Versatility

3x 1




HMURSAIOMG aBO@ESILe BINT BAMEUB f) LIRS

@969 al0QIMAUI@ MM aBOERLe BISHMMENo

. UMD

S (O]()

se alele eneadl
+  AlGEIONIANG

* NIOIDIEUOOQUBUIUWS0

3x1

23 Compare data and information. Any three comparisons from each
Data Information
1. Raw facts and figures 1. Processed data
2.Similar to raw material 2. Similar to the finished
3. Cannot be directly used product 3x1
4. Does not give precise and 3. Helps in taking decisions
clear sense 4. Clear and meaningful
CAUQ@]Zo DMBaNBEBRHMYo MIRMAfo 6)21QRS> ©969 ®MIBlENRMAUIT MItMio a@O@esIII0 T
OO A(EBRUD
ewgq (Data) aflaueo(Information )
1. @RMVMIB(® 1. GIdVY ©21Q® GWQ
QU@ EHSIo
v v 3x1
HEM BN SBLo 2. aR@ool@o aumioyaila)
2. @PAVeMIG® AUMi@pQilay | qu@dmo
aLAIMo 3. ®EIAIMEBBUB af)SIHIMD
3. aM@IS Oale@IUIH6M VAN HERM}
SYlalgy. 4. QUSUIo @BRO
4. H@MUIo USMUIDIQ LOQUODIIQ @0
@®L0o
M@dB3M1gY
24 Write any three functions of operating system. Any three from the following

Process Management




Memory management
File management
Device management

3x1

89q]e0gler mlguamInng agemeaslee @) (ld
OOIBHUB 0g) IO

@26)¥ 6)B>IS)OMIGBleaMAUIGE MIimlo ngO@maslele
@6 aNERo

Process Management

Memory management

File management

Device management

3x1

25

List any three language processors.

Compiler
Interpreter
Assembler

aRBOMEILRo MM LI0GUIE B IITVAVOZBUB af) P3O

HOBHMILIB

DRAB6)ISD
@RMVo6RIM

— o ) o o

26

Draw any three symbols used in flow chart.

Any three flow chart symbols with explanation

<:_- __—T> Start / Stop

/ / Input / Output

| | Process

— Decision

Flowlines Flow lines

3x1




Connector

(Symbols only 1/2 mark each)

30Q0219B3I@ 9alEIWLNM @O0 A

(DN E6BBUB UEW BN

Any three flow chart symbols with explanation

Start / Stop

Input / Output

Process

Decision

Flaowlines

Flow lines

Connector

(Symbols only 1/2 mark each)

3x1




27 Explain two types of documentation in programming |Internal documentation - comments in the program 1
External documentation / user manual 1
GI(I26BEIMD ©alEIUIHEMM EENI@o @RMMAIH: QllaIEeMo - GEIIWIAI@ comment &ud ag) YIRS | 1
BAUIBRIODBNRHUMIE:OB H0a] Qlludleess 6NI0a0QIIEEMO - M@ 2IM]M@D 1
28 Find out the invalid identifiers from the following. float 1
Justify your answer. - keyword 1/2
amount, float, 2B, B2 2B 1
- First character is a digit / Identifier should not start with |1/2
a digit
@I 6BISYOTIAIMAUII@ (oMo @BAVIWIAIOW float
£af)WFlaDQOIE:68 S6NBIailSle] ag)93me:. MleBrsies | - dleauy
OTMEODD (MVIWIH-C| 6D 2B
amount, float, 2B, B2 - First character is a digit / Identifier should not start with
a digit
29 What is meant by escape sequence ? Give any two Escape sequence is used to represent non graphic
examples. symbols in C++ 2
Example : Any two from
l\nl , l\tl , l\al , I\II 1 , 1\?1 etc 2 X 1/2
Escape sequence ag)(moe)d-06ms @oAINAIENRM®D | C++ 6.l ((N2alle:mn) DM@ allaedBRU (I@IMIUSle:@lecyniomd
af)OMIEM ? E6NE ORBIANBEMEBRUD af) IR escape sequence 9aleIUleanmy. 2
Example : ago@meleie ee6nzemo
l\nl , l\tl , l\al , l\" 1 , l\?l etC 2 X 1/2
30 Find out the result of the following operations :

ifx=10andy =3
(@ (x+y)*(x-y)
(b) x%y
(c) x>y




x=10, y=3 @@ M6 ®mIaleayom
6300 |B0aUMIBBIOS aNLlo af)ADIENT ?

@ (x+y)*(x-y)

(b) x%y

(c) x>y

(@) 91
(b) 1
(c) 1/ true

31

Explain any three fundamental data types in C++.

Any three from the following
void
- to represent empty set
- 0 byte memory
char
- to represent characters
-1 byte memory
int
- to represent integers
- 4 byte memory
float
- to represent floating point numbers
- 4 byte memory
double
- to represent floating point numbers
- 8 byte memory
(Listing only can be given 1/2 mark each 3 x 1/2)

3x1

C++eel a@e@mssleije MM a06NORANFES GRS
QR H:@BlB6)H:

Any three from the following
void
- to represent empty set
- 0 byte memory
char
- to represent characters
- 1 byte memory
int
- to represent integers

3x1




- 4 byte memory
float
- to represent floating point numbers
- 4 byte memory
double
- to represent floating point numbers
- 8 byte memory
(8wWQ ©8Saaud Y 6.21Q@I@S 1/2 @odss) Aflmoe 3 x 1/2

)

32 Differentiate ++ and -- operators. ++: increment operator 1
Used to increment the value of a variable by 1 1/2
-- . decrement operator
Used to decrement the value of a variable by 1
-, ++ o) BoJBOQEISBINS QAUDIIMo af) 3D ++: increment operator 1
80} cudlwsnilglong allel 1 65308 Oaleouilesymmy |1/2
-- . decrement operator
80} cudlwsnilglong allel 1 &:30@es00d
9alBQIUIN LM
33 Write the structure of C++ program. #include <headerfile> |/ #include<iostream> 1/2
using namespace identifier; / using namespace std; 1/2
int main() 1/2
{ 1/2
statements; 1/2
} 1/2
(Any sample program can be given 3 marks)
C++ G(IoUIaAONR LIS af)9IORE #include <headerfile> | #include<iostream> 1/2
using namespace identifier; / using namespace std; 1/2
int main() 1/2
{ 1/2
statements; 1/2
} 1/2




(2B9a0EEMOMINT 3 AIBHE) HEISIEHINUZMDIEN) )

34 Find out the initialisation, test expression and update |Initialisation: i=1;
statement in the following C++ code : test expression : i<=10;
for(i = 1; i<=10; i++) update : i++
{
cout<<"\n"<<j;
}
@969 OEISYOMIGlEeMM C++ GHoUI@3 mlamio initialisation: i=1;
initialisation , test expression ,update statement test expression : i<=10;
&6eN3ailSla] ag)9IRH update : i++
for(i = 1; i<=10; i++)
{
cout<<"\n"<<j;
}
35 Write the syntax of while loop statement. Initialisation ;
while (test expression )
{
Body of the loop;
Update expression;
}
( Example can be given 3 mark)
while loop equ@ealead caISm ag)L3mye: Initialisation ;
while (test expression )
{
Body of the loop;
Update expression;
}
(96B920EME@BTINY 3 MIBEE) HBISIEHICUIM@IENT )
36 List any three advantages of computer network. Any three from the following

* Resource sharing
* Price performance ratio




e communication 3x1
« Reliability
+ Scalability
HHMURPSB MY AUBSHE) EIBINMBIBS aBO@EIRe AIM | @IOY OBISYOBTIGERMAURI@ Mlamie a@e®eleRo
GAMBUB af)PYOREs 26MEMNo
¢ allaiEoe Al®eNIQIL6) @3
s ealeln] &HOWH6) T 3x1
+  allae almlaw.
«  allugomym
o llaielleclenomess mowio
37 Differentiate Hub and Switch. Any two point from each
Hub Switch
* The hub transmits * Switch transmits the
the data to every data to the
node . destination node only
2x11/2

« Hub is not able to
identify the
destination address

* Hub causes
congestion

* Switch stores the
addresses of all the
nodes connected to it

* Switch does not
cause congestion

a06NYJo Mflaflo @RALRBS QAUD(OMo af)PIORE

806IMI@MmMo 2 Ga1d@ilng1e:ud Qflmo

(%]

o061y

)Py

an6NT af)gJo BMIWIGEISE0
WIQ OOEAINIAM].
BIEHMOIM QilRIdMo
@@l 5JOl@Id anenilay

aila] eleHEROOMm
GMIWIGEILE) BI(@o (WIQ
OO BAINZM.

aila] @@




Sl eniWlafloflsiss aggjo
anent emQIdSseel BMIIEHBYOSQIo

@IEAESM H06MMISIMI | Qlle1daseaRUd MUIEHle6M].

mfla] emQIBHSY @lEH6)
OB,

38

Define email. Write the sections of email.

Electronic mail or e-mail is a

method of exchanging digital messages between
computers over Internet.

Sections of an e-mail

Any four from the following

To : Address of primary recipient

Cc: Carbon copy / Address of Secondary recipient
Bcc : Blind carbon copy / Address of tertiary recipient
Subject : Short summary of the message

Content : Actual message

( Section names can be given 1/2 mark each 3 x 1/2)

4x1/2

Dea®l@d Mldqaileams . m-eonaleileng coneanrUd
) P35>

DRBeOMGIeOL! &MIRSOIE-UBEsls@l@d ulledlQad
MUBMBUBEERUB HIOBGHAINYMM ABl@IIENT D-OAI@ @BLOAID
EDRIL; G(SI6MIH: AT

@969 @MIGlERMAUDI@B Bo@eslege MIOLIEMo

To - (owdle mjle:-domanileng aileinmo

CC: Carbon copy / sil@ll@ mile:domonieng alleinme
Bcc : Blind carbon copy / (@@l aujle:-damoaile
aflelomo

Subject: MEMUEBIOZ MoIaOo

Content : @LO0B@O MUBMBUo

Reply to : 203a1Sle03 @pr@@eHn6N: ea®@ilcd alleldme

4%1)2




(Section names can be given 1/2 mark each 3 x 1/2)

39 9 What is computer virus ? Give any two examples. Virus : a program used to corrupt or damage files |2
Any two examples 2x1/2
SMYISB OOQUOM a)MITB af)TMIEN ? @6 Virus : @misolmssileel allieeerud @)loeemacma
©R9aNBEMEBRUB af) VYO MUBlaflEOICGMI DalB@IUIBHNM GINWNIDIESHUB |2
ARBOOEILI0 EENE OBIANEEMo 2x1/2
40 10 [Write any three advantages of e-Business. Any three from the following
» It overcomes geographical limitations.
+ e-Business reduces the operational cost.
* It minimizes travel time and cost.
« It remains open all the time. 3x1
* We can locate the product quicker from a wider
range of choices.
(Any three valid points)
sn-enilmilm@ileng a@emssslege M GaMEUd s RAIWIMN(@IEAIW IGlIAIIEHO8 AOIBSH60M].
af)9IONE s ao-enflailn (IQUIBEDM §alfl0] EJOQHEMM].
¢ DO WM MR HalLiQio EIOTVHEINM]
© DO af)BJORE 930 (24X7) @ROMIGIEe0. 3x1
+  allveorimo@ selection-@d Moy M@H6) O@De Mo
CAUNODTIT HOENBBTHIMIB:0.
41 10 |List any three e-Learning tools Any three from the following
« Electronic Book reader (e-Books)
+ e-Text
+ e-Content 3x1

*  Online Chat
 Educational TV channel

aBO@BRIJ0 MM e0-GrIeMI6 SISIHSBIOS Gald
() IS

Any three from the following
« Electronic Book reader (e-Books)




+ e-Text

+ e-Content

* Online Chat

* Educational TV channel

3x1

PART D

Answer any 1 questions from 42 to 44
Each carries 5 scores (1 X5=5)

42 )@@ 44 UOEQIBS B2I0R3(6BRSEITE a@O@EIRI0 1
af)EROBIM) OTM@o ) 9IMYE:. 63IBEIMMIMIo 5 MIBH0@
Alleo (1X5=5)

PART D

42 2

Explain any five computer input devices.

Any five from the following

1. Keyboard: It is an input device used to input alphabets,
numbers and other characters.

2. Mouse: It is a hand-held device that controls the
movement of the cursor on a display screen.

3. Light pen: It is a light-sensitive pointing device used to
draw pictures on a computer screen.

4. Touch screen: It allows the user to operate the computer
by simply touching on the display

screen.

5. Graphic tablet: It allows artists to create graphical
images.

6. Touchpad: It is a pointing device used to move the
mouse pointer on a display screen.

7. Joystick: It is a pointing device commonly used for
playing video games.

8. Microphone: It is used to input sound.

9. Scanner: It is an input device that scans documents
such as photos and pages of text.

10. Optical Mark Reader (OMR): It reads pencil marks made
on pre-defined positions on the

OMR form. It is used to process competitive exam results
quickly and accurately..

5x1




11. Barcode Reader/Quick Response (QR) code reader
Barcode readers are electronic devices for reading printed
barcodes.

A QR code can store website URLs, plain text, phone
numbers, etc.

12. Magnetic Ink Character Recognition (MICR) Reader: It is
used in banks for faster clearing

of cheques.

13. Biometric sensor: It is used to identify unique human
physical features like fingerprints,

retina, etc.

14. Smart card reader: A smart card is a plastic card that
stores and transacts data (Eg:- ATM

Card). Smart card readers are used to access data in a
smart card.

15. Digital camera: It can take pictures and videos and that
can be transferred to a computer.

aBO@B|RIYo @R DMBal}T DaldEEMEBROS BI0a]
Qllveldle-Aleee:

©969 ®MIBlERMAUDII@ MIiMie a@O®esIeRe @ReraT
ag)efo

1. SSlEENIIBW: BREHEBRBI0 M8 AlANW allamears)o
D8RS O2IQRAMNDIM D@ OalEIUINHEM].

2. @M HMIRPSA MSSIMlear SHYaValnng aleiMo

M olenm aedqlslallariooieariam 6oy

6.210l@ DMBal}S DaldEEMAIEMID).

3. ©6.IQ GalM: &MIPSAB MVEIMI@ 2fl(@683U3 U@L
ale@IUlemnmM eerig &aVMMIIgIal Gald@laglouy
OalHHE6MMIEMI®).

4. 5] M(es10d: AWlmiGe@l@d Mial@udla] @miRsd

(IUBDDq |86008 D®Y DaleIBmICiOM @PMIAIRlEeIIM]
5. (N9adlss so6nt eaIq: (1NJadles all@earud mldazlesymailay
SHRIIEIBMIB DalEGIUIBM].

5x1




6. SaJalo: @mMIRSA MIEEIMIEE aDMY @aId@INZA (ilesnam
DalEINN B GaldDIFlot) Dald@EMAIEMID.

7. ezmo@iqylesy: allullewo enailnye:ud &8lenoad
DalGIVIEEM 8@} BaldDIFlot) Dald@6M@IETI@).

8. HODE(EIBNIENT: UBENIRo DMBall 6 21QRM@ITY
9alBIUINHLM].

9. MIBIMB: BaNIBSIB:Bo OSEAY BalLRHSIo MBI
621 DMBal}S OAIQRMDIM DalCIUIHM].

10. 8a1Glee@8 @mBH6) Gl (63.a0)0.@RA): Benise;glal
065q] a16lene:816S Mmel MIBENWo Ey@MIMBINSD]o
BAUN@DIRIZo MNSDMIMD DD DalEQIUINLERM].

11. enIBEHIW SlWA | H{l86) HOMIBAIeMMY ( QR ) oW
Alow®d: @.4)Sla] ENIDBBEIWIE-UB MIBIM 6).21QRAN@IT
9ale@IUlEeM]. QR @H:0WEU3H6) eueniaemg URL,
MUIWIPEM BSEEYY, BaNIENS MMUB SEB1] BHISIMTD
QllIEEERUB MoERAIE6INS B>Yl@o.

12. 206UNgles e08; &0eE5SA 086U lau1ad ( MICR ) Slowd:
£218MNEUB BIITV(Y 6).21QRM@INY 6NI08IEE] @D
DaIBQIUIN LM},

13. enIe@IeRA(SIS; HMABMIA: QllerIS@IsL, HOGIM
@s6ERlN @Gl |0l@IMEBS Oald>@6Mo.

14. M5@9@S @AW Slawd: WaQ MorElenIMe allrilawe
£.21QPOMYo SHYIIM 8@} oJOqYIB> BIBWIET NIRRT IR
(939:- ATM Card ) . mMimads &08llenss awoQ
a)SAEMM@INY MIBIABS £ SlWB Oale@IUIE6M].
15. aWl=dlg@d @x0m0: afl@messgle afluleos:so
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Briefly explain the phases of Programming.

Any five with explanation

1. Problem Identification : Identify the nature of the
problem to solve

2. Algorithm & Flowchart-




Algorithm -finite set of instructions to solve problem
Flowchart - Pictorial representation of algorithm
3. Coding- The process of writing program instructions in
any
HighLevel Language.
4. Translation- The process of converting source code
(HighLevelLang) to object code (Machine Language /
Binary Language )
5.Debugging - The process of detecting and correcting
errors
6. Execution & Testing - The purpose is to test if results
are correct. @
7. Documentation- Writing comments in source code for
future
modification/reference (internal documentation) or
making a hard copy (external documentation )
(Listing the steps can be given 1/2 mark each 7 x 1/2)
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00ISROOSS

MSalS| (063303

80, Q0219@3 - @PR@IENIGIo ail(@@aI153@S
BEEUEQ|SIOTIMNDY

3. G0 BHHIW @QYINIHLO@I - High Level Language
ale@IUI 5] GII(UIT0 MRYINILOTD
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5x1




6).21Q)RM}.

6. (LUBODMI0 alBlEHEMOIo - @BOIINIIMM a0LIEBRUB
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af)9IONS [ @ITVDB AIMITB @QINILERD:

(Listing the steps can be given 1/2 mark each 7 x 1/2)

44

What is topology ? Briefly explain different network
topologies.

Topology : The way in which the nodes are physically
interconnected to form a network.

* Bus topology

+ Star topology

* Ring topology

+ Mesh topology
Bus topology : In bus topology, all the nodes are
connected to a main cable called bus. A small device
called a terminator is attached to each end of the bus.
Star topology - In star topology, each node is directly
connected to a hub/switch.
Ring topology - In ring topology, all nodes are connected
using a cable that loops the ring or circle. Data travels only
in one direction in a ring.
Mesh topology - In mesh topology, every node is
connected to other nodes. There will be more than one
path between two
nodes.
(Name of topologies with correct figure can be given 1
mark each)

Star topolog
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